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 10 × 1 = 10 
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4. 850 m

340 ms  1  

(A) 5 s 

(B) 4 s 

(C) 2·5 s 

(D) 3 s 
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11. A- B-

 4 × 1 = 4 

A  B  

(A)  (i) 

 

(B)  (ii)  

(C)  (iii) 

 

(D)  (iv)  

 (v)  

 (vi) 

 

 (vii) 

 

 7 × 1 = 7 
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13. p-n-p  
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15.  

A B  
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 16 × 2 = 32 
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 A B C 

 700 1500 3000 

a)  

b)  



CCE RF & RR  7 83-L 

  RF & RR - 424  [ Turn over 

24. 

 

25. 

( RR ) ( WW )

F
 2

 

26. 

(i) 

(ii)  

27. 

 

 

28. 

 

 



83-L 8 CCE RF & RR  

  RF & RR - 424  

29. 

 

30. 

 

31. 

 

(i) 

(ii)  

(iii) 

(iv)  

 

  

(i) 

(ii)  

32. CH
 2O ( HCHO )
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34. 3 m 330 ms  1

 

 5 × 3 = 15 
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39. A, B, C, D E 6, 8, 3, 7  
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(i) 

(ii)  

(iii) 

 3 × 4 = 12 

40. (a) 
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R g  

 

 (a) 

 

 (b) 

 

41. (a) 

(i) Al
 2O

 3 + 2NaOH  2NaAlO
 2 + H

 2O

(ii) Al
 2O

 3 + 6HCl  2AlCl
 3 + 3H

 2O 
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